..DID: 2467 ..TXT: PSC NO: 87 GAS STATEMENT TYPE: NGV COMPANY: NEW YORK STATE ELECTRIC & GAS CORPORATION STATEMENT NO: 13 INITIAL EFFECTIVE DATE: 03/01/98 STAMPS: Cancelled by Statement NGV Number 14 Effective 04/01/1998 RECEIVED: 02/24/98 STATUS: Cancelled EFFECTIVE: 03/01/98

STATEMENT OF NATURAL GAS VEHICLE RATE

March 1, 1998

#### Owego District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga Therm Equivl	Cei al. per	ket Based ling Rate per Gal. Equivlnt	Applicable -Gas Vehic per Therm		
Category 1A	\$0.70957	\$0.809	\$0.95222	\$1.086	\$0.80452	\$0.917
Category 1B	\$0.70957	\$0.809	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.70957	\$0.809	\$0.93901	\$1.071	\$0.83933	\$0.957
Category 2A	\$0.72991	\$0.832	\$0.95222	\$1.086	\$0.82485	\$0.941
Category 2B	\$0.72991	\$0.832	\$1.39053	\$1.586	\$1.18013	\$1.346
Category 2C	\$0.72991	\$0.832	\$0.93901	\$1.071	\$0.85967	\$0.980
WITH	ł	С О М	P R	E S	S I O	N :
Category 3A	\$0.59558	\$0.679	\$0.95222	\$1.086	\$0.93043	\$1.061
Category 3B	\$0.59558	\$0.679	\$1.39053	\$1.586	\$0.87781	\$1.001
Category 3C	\$0.59558	\$0.679	\$0.93901	\$1.071	\$0.90123	\$1.028
W I T H	Ο U Τ	С	О М Р	R E	S S I O	N :
Category 3A	\$0.57524	\$0.656	\$0.95222	\$1.086	\$0.91010	\$1.038
Category 3B	\$0.57524	\$0.656	\$1.39053	\$1.586	\$0.85748	\$0.978
Category 3C	\$0.57524	\$0.656	\$0.93901	\$1.071	\$0.88090	\$1.004
Category 4	\$0.72991	\$0.832	\$0.95222	\$1.086	\$0.82485	\$0.941

PAGE: 2

#### STATEMENT OF NATURAL GAS VEHICLE RATE

March 1, 1998

## Goshen District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga Therm Equivl	Cei al. per	ket Based ling Rate per Gal. Equivlnt			
Category 1A	\$0.56594	\$0.645	\$1.01801	\$1.161	\$0.86043	\$0.981
Category 1B	\$0.56594	\$0.645	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.56594	\$0.645	\$0.90938	\$1.037	\$0.81266	\$0.927
Category 2A	\$0.58625	\$0.668	\$1.01801	\$1.161	\$0.88074	\$1.004
Category 2B	\$0.58625	\$0.668	\$1.39053	\$1.586	\$1.18010	\$1.346
Category 2C	\$0.58625	\$0.668	\$0.90938	\$1.037	\$0.83297	\$0.950
WITH	I	с о м	P R	E S	S I O	N :
Category 3A	\$0.50424	\$0.575	\$1.01801	\$1.161	\$0.83294	\$0.950
Category 3B	\$0.50424	\$0.575	\$1.39053	\$1.586	\$0.87779	\$1.001
Category 3C	\$0.50424	\$0.575	\$0.90938	\$1.037	\$0.87579	\$0.999
W I T H	Ο U Τ	C	О М Р	R E S	S S I O	N :
Category 3A	\$0.48393	\$0.552	\$1.01801	\$1.161	\$0.81263	\$0.927
Category 3B	\$0.48393	\$0.552	\$1.39053	\$1.586	\$0.85748	\$0.978
Category 3C	\$0.48393	\$0.552	\$0.90938	\$1.037	\$0.85548	\$0.975
Category 4	\$0.58625	\$0.668	\$1.01801	\$1.161	\$0.88074	\$1.004

PAGE: 3

STATEMENT OF NATURAL GAS VEHICLE RATE

March 1, 1998

#### Lockport District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga Therm Equivl	Cei al. per	ket Based ling Rate per Gal. Equivlnt	Applicabl -Gas Vehi per Therm		
Category 1A	\$0.74729	\$0.852	\$1.03117	\$1.176	\$0.87162	\$0.994
Category 1B	\$0.74729	\$0.852	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.74729	\$0.852	\$0.92419	\$1.054	\$0.82600	\$0.942
Category 2A	\$0.76741	\$0.875	\$1.03117	\$1.176	\$0.89174	\$1.017
Category 2B	\$0.76741	\$0.875	\$1.39053	\$1.586	\$1.17991	\$1.345
Category 2C	\$0.76741	\$0.875	\$0.92419	\$1.054	\$0.84612	\$0.965
WITH	Н	С О М	PR	E S	S I O	n :
Category 3A	\$0.58279	\$0.665	\$1.03117	\$1.176	\$0.91946	\$1.048
Category 3B	\$0.58279	\$0.665	\$1.39053	\$1.586	\$0.87760	\$1.001
Category 3C	\$0.58279	\$0.665	\$0.92419	\$1.054	\$0.91650	\$1.045
W I T H	Ο U Τ	С	О М Р	R E	S S I O	N :
Category 3A	\$0.56267	\$0.642	\$1.03117	\$1.176	\$0.89934	\$1.025
Category 3B	\$0.56267	\$0.642	\$1.39053	\$1.586	\$0.85748	\$0.978
Category 3C	\$0.56267	\$0.642	\$0.92419	\$1.054	\$0.89638	\$1.022
Category 4	\$0.76741	\$0.875	\$1.03117	\$1.176	\$0.89174	\$1.017

PAGE: 4

STATEMENT OF NATURAL GAS VEHICLE RATE

March 1, 1998

## Elmira District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga Therm Equivl	Ceil 1. per	ket Based ling Rate per Gal. Equivlnt	Applicable -Gas Vehic per Therm		
Category 1A	\$0.77150	\$0.880	\$1.03117	\$1.176	\$0.87162	\$0.994
Category 1B	\$0.77150	\$0.880	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.77150	\$0.880	\$0.85753	\$0.978	\$0.77150	\$0.880
Category 2A	\$0.79162	\$0.903	\$1.03117	\$1.176	\$0.89174	\$1.017
Category 2B	\$0.79162	\$0.903	\$1.39053	\$1.586	\$1.17991	\$1.345
Category 2C	\$0.79162	\$0.903	\$0.85753	\$0.978	\$0.79162	\$0.903
W I T 1	Н	с о м	PR	E S	S I O	N :
Category 3A	\$0.58430	\$0.666	\$1.03117	\$1.176	\$0.93356	\$1.064
Category 3B	\$0.58430	\$0.666	\$1.39053	\$1.586	\$0.87760	\$1.001
Category 3C	\$0.58430	\$0.666	\$0.85753	\$0.978	\$0.85753	\$0.978
W I T H	Ο U Τ	C	О М Р	R E :	S S I O	N :
Category 3A	\$0.56418	\$0.643	\$1.03117	\$1.176	\$0.91343	\$1.042
Category 3B	\$0.56418	\$0.643	\$1.39053	\$1.586	\$0.85748	\$0.978
Category 3C	\$0.56418	\$0.643	\$0.85753	\$0.978	\$0.84936	\$0.968
Category 4	\$0.79162	\$0.903	\$1.03117	\$1.176	\$0.89174	\$1.017

PAGE: 5

STATEMENT OF NATURAL GAS VEHICLE RATE

March 1, 1998

# Combined District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga Therm Equivl	Cei l. per	ket Based ling Rate per Gal. Equivlnt	Applicable -Gas Vehic per Therm		
Category 1A	\$0.77150	\$0.880	\$1.05748	\$1.206	\$0.89399	\$1.019
Category 1B	\$0.77150	\$0.880	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.77150	\$0.880	\$0.91679	\$1.045	\$0.81933	\$0.934
Category 2A	\$0.79162	\$0.903	\$1.05748	\$1.206	\$0.91411	\$1.042
Category 2B	\$0.79162	\$0.903	\$1.39053	\$1.586	\$1.17991	\$1.345
Category 2C	\$0.79162	\$0.903	\$0.91679	\$1.045	\$0.83945	\$0.957
W I T I	Н	с о м	PR	E S	S I O	N :
Category 3A	\$0.58430	\$0.666	\$1.05748	\$1.206	\$0.92144	\$1.051
Category 3B	\$0.58430	\$0.666	\$1.39053	\$1.586	\$0.92219	\$1.052
Category 3C	\$0.58430	\$0.666	\$0.91679	\$1.045	\$0.91289	\$1.041
W I T H	O U T	C	О М Р	RE	S S I O	N :
Category 3A	\$0.56418	\$0.643	\$1.05748	\$1.206	\$0.90132	\$1.028
Category 3B	\$0.56418	\$0.643	\$1.39053	\$1.586	\$0.90207	\$1.029
Category 3C	\$0.56418	\$0.643	\$0.91679	\$1.045	\$0.89276	\$1.018
Category 4	\$0.79162	\$0.903	\$1.05748	\$1.206	\$0.91411	\$1.042

PAGE: 6

STATEMENT OF NATURAL GAS VEHICLE RATE

March 1, 1998

# Champlain District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga Therm Equivl	Cei al. per	ket Based ling Rate per Gal. Equivlnt	Applicabl -Gas Vehi per Therm		
Category 1A	\$0.63627	\$0.726	\$1.01801	\$1.161	\$0.86043	\$0.981
Category 1B	\$0.63627	\$0.726	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.63627	\$0.726	\$0.90938	\$1.037	\$0.81266	\$0.927
Category 2A	\$0.65639	\$0.748	\$1.01801	\$1.161	\$0.88056	\$1.004
Category 2B	\$0.65639	\$0.748	\$1.39053	\$1.586	\$1.17991	\$1.345
Category 2C	\$0.65639	\$0.748	\$0.90938	\$1.037	\$0.83279	\$0.950
WITI	H	С О М	P R	E S	S I O	n :
Category 3A	\$0.44573	\$0.508	\$1.01801	\$1.161	\$0.95841	\$1.093
Category 3B	\$0.44573	\$0.508	\$1.39053	\$1.586	\$0.87760	\$1.001
Category 3C	\$0.44573	\$0.508	\$0.90938	\$1.037	\$0.90938	\$1.037
W I T H	Ο Π Τ	C	O M P	R E	S S I O	N :
Category 3A	\$0.42561	\$0.485	\$1.01801	\$1.161	\$0.93829	\$1.070
Category 3B	\$0.42561	\$0.485	\$1.39053	\$1.586	\$0.85748	\$0.978
Category 3C	\$0.42561	\$0.485	\$0.90938	\$1.037	\$0.89083	\$1.016
Category 4	\$0.65639	\$0.748	\$1.01801	\$1.161	\$0.88056	\$1.004